
1. Convert rupees to paise.
 a. ` 89.05   b.  ̀  90.00   c.  ̀  92.50 

2. Convert paise to rupees.
 a. 6650 p    b.  6205 p    c.  9900 p 

3. Solve.
 a.  Rupa buys a handbag for ` 250 and a dress for ` 550. What is the total 

amount that she spends on shopping?

 b.  Nina has saved ` 650. Her grandmother gives her ` 500. Rina wants to 
buy a school bag that costs ` 1100. Will she be able to buy the bag with the 
money that she has?

 c.  The price of a table lamp was ` 250 last year. It costs ` 325.50 now. What is 
the increase in cost?

 d.  A bag of rice costs ` 2500 in Shop A, while the same bag of rice costs 
` 2672 in Shop B. In which shop is the rice costlier? By how much is it 
costlier?
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4. Find the total cost.

 a.  ̀  5204; ` 620.50; ` 100.50; 
` 3250.50

 b.  ̀  5250.50; ` 750.50; ` 3200.50; 
` 300

5. Solve.
 a.  Anita buys a purse for ` 53.50. She gives the shopkeeper one fifty-rupee 

note and one twenty-rupee note. How much change does she get back?

 b.  Tara bought a bottle of shampoo for ` 36.00, a tooth brush for ` 29.50 and 
a hair brush for ` 32.50. She gave the shopkeeper a hundred-rupee note. 
How much money did the shopkeeper return to her?
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1. Subtract:

 a. ` 782 from ` 1560  b. ` 530.50 from ` 850.00

2. Solve.
 a.  The price of six mugs is ` 350.50. Preetha has only ` 310. How much more 

money does she need to buy the mugs? 

 b.  Kumar has ` 356. His mother gives him 2 twenty-rupee notes. How much 
money does he have with him now?

 c.  Rinku has 5 hundred-rupee notes, 22 fifty-rupee notes and 12 twenty-rupee 
notes. What is the total amount she has?
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3. Find the unit cost or multiple cost. 
 a.  The cost of 12 kg of sugar is ` 360. What is the unit cost? 
 b.  The cost of one bar of chocolate is ` 82. What is the cost of 7 bars of 

chocolate? 
 c.  The cost of one book is ` 32.50. What is the cost of 4 books? 
 d.  The cost of one kg of apples is ` 360. What is the cost of 5 kg of apples? 

 e.  The cost of 8 toys is ` 432. What is the unit cost? What is the cost of two 
toys?

 f.  The cost of one suitcase is ` 780. What is the cost of 6 suitcases? After one 
month the cost of 6 suitcases increases to ` 5040. What is the unit cost 
now? 

 g.  A school librarian went to a bookstore to buy storybooks. She purchased 50 
books at the cost of ` 75 per book. She went the next day and purchased 63 
books for ` 5,040. On which day did she spend more money on each book 
and by how much? 
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